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Jenurens uacrorl (2.208.036)

Puc 4

Baox uuaukauun (3.045.015)

Tepevens sneMenTOR

Olgg:" Hanmenopanne ‘ Koa. l TlpuMesanne
Pesncropss
Rl OMJIT 0,125-300 OmM=109, 1
R2 OMJIT-0,125-1,1 ®¥Ou=10% 1
R3 OMJIT-0,125 300 Om=10% 1
R4 OMJIT 0,125-1,1 xOm=10% i
RS OMJIT 0,125-300 Om=10% 1
R6 OMJIT-0,125-1,1 kOm=10% 1
R7 OMJIT 0,125-300 OM£=10% 1
RS OMJIT-0,125 1,1 kOm=10% 1
RY OMAT 0,125 300 Om=109%, 1
RIG OMJT 0,125 1,1 kOM~10% 1
RI11 OMJIT 0,125 300 Om=10 1
RI2 OMAT-0,125 1,1 xOM% 10 1
RI3 OMJIT 0,125 300 Om=*109% 1
R4 OMAT 0,125-1,1 kOm=10% 1
R15 OMJIT 0,125-300 OM+=10% 1
RI16 OMJIT 0,125-1,1 kOmM=£10% 1
A1 18 Haznkatop undponoii 3JIC3245 8
9. 013 IlHon ceetousnyuaiomnit 3713415 5
TI1, T2 Tpansucropnas Matpuua 2TCE22A 2
e Bunxa PIN2H-1-30-B 1
2 Bunka PIL2H-1-17 B 1
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